Hollywood FLORIDA

City of Hollywood

Procurement Services

Steve Stewart, Chief Procurement Officer 2600 Hollywood Boulevard, Hollywood, FL 33020

EVALUATION TABULATION

IFB No. IFB-102-23-GJ Tables and Chairs (Re-bid)

RESPONSE DEADLINE: August 2, 2023 at 3:00 pm Report Generated: Wednesday, August 2, 2023

SELECTED VENDOR TOTALS

Vendor	Total					
Douglas Equipment	\$34,245.00					
Elite Textile Trading LLC	\$35,490.00					
The Office Cart LLC	\$46,200.00					
Royal Media Network, Inc.	\$86,100.00					
MityLite	\$104,916.00					
ALLURE HOSPITALITY SUPPLIER INC	\$130,149.00					
Tiles in Style, LLC	\$131,415.00					
YOUR OFFICE INC	\$147,000.00					
Technology International, Inc.	\$156,906.00					
School's In, LLC DBA Schools IN	\$160,140.00					
Lakeshore Learning Materials, LLC	\$279,015.00					

TABLE AND CHAIRS (Table 1 of 3)

Table and Chairs			ALLURE HOSPITALITY SUPPLIER INC		Douglas Equipment		Elite Textile Trading LLC		Lakeshore Learning Materials, LLC		MityLite			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Foldable Chair or Equivalent - COLOR: Frame: Silver, Plastic: Navy Blue See Section 4 - Scope of Work/Services for specifications	600	each	\$53.99	\$32,394.00	\$12.54	\$7,524.00	\$22.02	\$13,212.00	No Bid	No Bid	\$55.63	\$33,378.00
X	2	6 FT. ABS RECTANGLE TABLE or Equivalent - COLOR: Frame: Black, Tabletop: Gray See Section 4 - Scope of Work/Services for specifications	300	each	\$325.85	\$97,755.00	\$89.07	\$26,721.00	\$74.26	\$22,278.00	\$930.05	\$279,015.00	\$238.46	\$71,538.00
Total						\$130,149.00		\$34,245.00		\$35,490.00		\$279,015.00		\$104,916.00

TABLE AND CHAIRS (Table 2 of 3)

Table and Chairs			Royal Media Network, Inc.		School's In, LLC DBA Schools IN		Technology International, Inc.		The Office Cart LLC		Tiles in Style, LLC			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	Foldable Chair or Equivalent - COLOR: Frame: Silver, Plastic: Navy Blue See Section 4 - Scope of Work/Services for specifications	600	each	\$69.00	\$41,400.00	\$97.18	\$58,308.00	\$51.00	\$30,600.00	\$33.00	\$19,800.00	\$78.60	\$47,160.00
х	2	6 FT. ABS RECTANGLE TABLE or Equivalent - COLOR: Frame: Black, Tabletop: Gray See Section 4 - Scope of Work/Services for specifications	300	each	\$149.00	\$44,700.00	\$339.44	\$101,832.00	\$421.02	\$126,306.00	\$88.00	\$26,400.00	\$280.85	\$84,255.00
Total						\$86,100.00		\$160,140.00		\$156,906.00		\$46,200.00		\$131,415.00

TABLE AND CHAIRS (Table 3 of 3)

	YOUR OFFICE INC					
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	1	Foldable Chair or Equivalent - COLOR: Frame: Silver, Plastic: Navy Blue See Section 4 - Scope of Work/Services for specifications	600	each	\$90.00	\$54,000.00
Х	2	6 FT. ABS RECTANGLE TABLE or Equivalent - COLOR: Frame: Black, Tabletop: Gray See Section 4 - Scope of Work/Services for specifications	300	each	\$310.00	\$93,000.00
Total	1					\$147,000.00